Stationhal:

a) What 3-D shape does this tissue box represent? rec{»av\ﬂuLmr Pvgsw\

b) How much space is there for the tissues? V= Agase h
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Toblerone candy is packaged as shown below.
0“ a) What 3-D shape is the box? \\ﬂm\gulwv Prism

0‘\‘ b) How much space is there for the candy?
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6cm c) If each piece of candy requires 12 cm3 of room, how many pieces
of candy can fit in one Toblerone box?
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A Campbell’s soup can measures 30 cm in width and 42 cm in height.

How much soup can fit in the can?
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http://www.google.com/imgres?q=soup+can+clip+art&um=1&hl=en&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7GGLL_en&biw=1280&bih=619&tbm=isch&tbnid=0wpvWy4dM8egiM:&imgrefurl=http://doverpl.blogspot.com/2010_11_01_archive.html&docid=w-T1eBLfU4l2yM&imgurl=http://3.bp.blogspot.com/_MUp_Op0TNm4/TOrg8KJyFWI/AAAAAAAABAs/2g6Q-9pWz1U/s1600/soup%2Bcan.jpg&w=318&h=480&ei=yXZnT8AlyaKDB8D0qeIC&zoom=1

A birthday hat measures 6 inches wide and 4 inches tall.

a) They've run out of paper plates at the party. You decide to use your hat as scoop! How much space
is there for your chips to fit inside?
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b) If each chip takes up 3 in3 of space, how many chips will fit in your hat?
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Lindsay’s princess playhouse will be in the shape of her favorite solid, a regular square pyramid! The
square base has a perimeter of 32 feet. The height of her playhouse will be 3 feet. How much space will
she have to play?

V= Aﬁasv h
3
- $¢.3

3
> ik fy°

A regular hexagonal cake is shown. If the perimeter of the cake is 48 inches and the height of the cake is 3
inches, how much cake is there?
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http://www.google.com/imgres?q=birthday+hat&hl=en&sa=X&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7GGLL_en&biw=1280&bih=619&tbm=isch&prmd=imvns&tbnid=_-iiEhhvXXIZ5M:&imgrefurl=http://www.dailyclipart.net/clipart/birthday-party-hat-clip-art/&docid=V5KJfMCt-3XkNM&imgurl=http://cdn.dailyclipart.net/wp-content/uploads/medium/Birthday4.jpg&w=340&h=453&ei=oHtnT_zzF4GIgwf2ia3pAg&zoom=1

Luke’s swimming pool is 3 ft. by 4 ft. and 2 ft. tall. How many gallons of water will it hold?
(1 gal is approximately 0.134 ft3.)
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Stakioh
The radius of a large snow cone is 3 times the radius of a small snow cone. How much

more snow cone does the person who orders a large snow cone get compared to the
person who orders a small snow cone, if the heights of the snow cone are the same?
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What if the radius of the snow cones stay the same size, but now the height of the larger
snow cone is 3 times larger than the small snow cone?
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Popcorn is available in two cups: a square pyramid or a cone as shown.
The price of each cup of popcorn is the same. Which cup is the better deal? Explain
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